lxy = vzl = / (vz = x2)? + [yl + 4/ (x2)?

D 2xy @ xy ® —xy @ —xz @—ny

~&B

xy <0 OB x 9y AR o2 Bgol1

tl

z
watA x o) o = AR e 257} i,
xy< 00| yz> 0022 xy—yz<0
yz> 00| xz<0°]|B2 yz—xz>0
Sy —yzl = A/ (vz — x2)? + |yl + /(x2)?
==Xy +YZ— YT+ XZ— Xy = X2
= —2xy




2E| 97429 S47 A7 AAES G 3K Glek
A2 333 B v, ViZabe 7t 4A%7
717k

@ 5 @6 @7 @ 8

B

V126abc = V2 x 32 x 7 x abc

abc = 14 = abc = 56 == abc = 126
abc = 224 T+= abc = 504

abc =14 € o, (1,2,7)

abc =56 4 M, (1, 7, 8), (2, 4, 7)
abc =126 4 IIH (2, 7,9), (3,6, 7)
abc =224 € W, (4, 7, 8)

abc =504 4 W, (7, 8, 9)




3. 7< V3n<9EUESE AL 0 9 g FolA AL o, HAEUS
bt a-b 9 7HE?

@ 8 (@)9 3@ 10 @ 11 ® 12

T<\V3n<9
49 < 3n < 81

49
§<I’l<27

"~ a=26,b=17




xom S(x) = f(1) + f(2) + fB) + -+ f(x)
H A< noll ste] §(n) 9] Zhel A7}

©) @ 50 )99

S (n)
(VAFT- R)
DOn=8¢%
@n=159 o,

+ (VI-V3) +




YA {

V3x—2V2y = -2
17 18
@® x 177\/_,y 178
® x 177‘/_,y 178
= — — 3
® x 7\/§,y -

V2x + \/§y=5\/6

=l

18 17
@ x=7\/§,y=7\/§

18 17
@= 7 By= V2

V2x+ 3y =5v6---Q
\/§x-2'\/§y:_2©
Ox2V2+Ox V3 2 5HH

42+2/6 y=20/3
+) 37-2V6y=—2/3
Tz =18/3

18
Lx=—1v3
X 7 V3

@oh:?«é%ww
4 34
57—2\/§y=—2, V2y = —

17
— 1\
y 7\/_




(VB+1)x=(4- V3)(V3+2)

(4- V3)(V3+2)
V3+1

_2v3+45
V341
_(2V3+5)(V3-1)

(V3+1)(V3-1)
_1+3V3

2

wtetA, VaTh =

= V2

N | o

+

| —




1 1 1

f(a):‘/m‘f‘\/‘_l?——l ,m—Fm-i-"'—Ff(g)g%)\"‘%:rLﬁ]'
H?
® - ® -2 @) Vo -2
@ Vi0- V5 ® VI0+ V5-2

fla) = Va+1+ va oA

1 1

@ Vaviive o VTV

1 1 1

E}E’rﬂi,m+f(—5)+---+179):«/5—2+«/6—\/5+---+
VIO - V9= V10 -2




1

8. f(n):—moéuﬂ,

Q) +F2)+F(3)++£(8) ] g7

@2 @ 3 @ 2v2-1
@ 2v2+1 ® 32




N5 < x> 2 xol 7 ke Baer o,
\/5 o] ZFo. 1519
@ 3 @)4 ®5 @ 6

o] m, <

)

ﬁ

_|_

—_

< x>+ x o 7P 77he Ageoltt.
1<V2< /(15)2<2°B2 < V2>=1
(Fo1x A

=< v2(¥2-1) >

(V2+1)(V2-1)

V2(V2+1) N
(V2-1)(V2+1)
=<2-V2>+<2+ V2>
=1+3=4 (- 1< V2<15)

+ <
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T 0 1 2 3
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